
https://www.pass2lead.com/gre-test.html
2024 Latest pass2lead GRE-TEST PDF and VCE dumps Download

 

 

 

GRE-TESTQ&As

Graduate Record Examination Test: Verbal, Quantitative, Analytical
Writing

Pass GRE GRE-TEST Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/gre-test.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by GRE Official
Exam Center

 

 

Latest GRE-TEST Dumps | GRE-TEST Study Guide | GRE-TEST Braindumps                                1 / 4

https://www.pass2lead.com/gre-test.html
https://www.pass2lead.com/gre-test.html
https://www.pass2lead.com/gre-test.html


https://www.pass2lead.com/gre-test.html
2024 Latest pass2lead GRE-TEST PDF and VCE dumps Download

QUESTION 1

A circle is inscribed in a regular hexagon that is inscribed in a circle. What is the ratio of the area of the smaller circle to
the area of the larger circle? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: C 

 

 

QUESTION 2

Discussions of the collapse of the lowland Maya are not new. However, it might be better to say that Maya civilization as
a whole did not collapse, although many zones did experience profound change. Because societies are not bounded,
unitary entities. collapses are rarely total, and continuity is a normal pan of collapse At the end of the Classic period [200
900C.E.]. the institution of divine kingship and many of the well-known markers of elite culture such as carved stelae
[slabs erected for funerals or commemorative purposes] and hieroglyphic polychromes [multicolored artistic pottery)
ended, but Maya civilization continued in modified form with many important features intact (e.g.. literacy, war. art. the
production of fine ceramics). In some cases large buildings were constructed in the Postclassic period [900-1512 C.E.],
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but the transition to the Early Postclassic [900-1200 CXj era is distinctive for a decrease in elite goods and contexts. The
variability in artifact changes during the Terminal Classic [800-900 C.E.] and into the Postclassic. even within artifact
classes (e.g.. fine versus unslipped ceramics), suggests weaker centralized control than during the Classic period. Site
abandonments in the Terminal Classic indicate the collapse of the functional ability of Maya states, but sites that
survived show that Maya civilization continued albeit without divine kingship and much of the spectacle around it. The
passage suggests which of the following about Maya living after the Terminal Classic in "sites that survived"? 

A. Their customs were identical to those of their ancestors. 

B. Their pottery was totally utilitarian in nature. 

C. They no longer created caned stelae. 

D. They stopped erecting large buildings. 

E. They did not use written language. 

Correct Answer: C 

 

 

QUESTION 3

Mathematicians have sometimes acknowledged that_________is a requirement for creativity: for example. Poincare
described explicitly a time when he experienced an insight after an incubation period, a period during which the
unconscious mind was at work. 

A. intelligence 

B. preparation 

C. motivation assistance 

D. collaboration 

Correct Answer: C 

 

QUESTION 4

A. Quantity A is greater. 
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B. Quantity B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: C 

 

QUESTION 5

The lengths of the sides of triangle RST are 3. 4. and v. Which of the following inequalities specifies those values of y
for which each angle measure of mangle RST is less than 90°? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: C 
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